5+#8 / External

B AZ / Components [ (x®&2 : TY-34)2008.02.08
View No. 2% / Part name BE& / Pcs & / Material ® . &@EMIE / Color- Finish
1 vy T7H/N= / Top cover 1 A UD-A"2-p / Polycarbonate |34Mb- / Light gray
%8R/ Transparent
2 |[RT4 — 1 KYN-KR-NT 37740\ - IANT V-
Base Glass fiber filled Light gray
® polycarbonate
3 Ay b/ Gasket 1 AYb3y / Polyurethane 73y / Black
—= - L e L |7v # / Latch 3 A770x / Stainless steel #38 / Unfinished
5 [Eft~x—-2AL2A(MS x 10) 6 K = ffipox-h
Screw(M5 - 10) Steel Trivalent chromate
A 6 (FMERELAT R 6 A7IVR L8
Mounting bracket Stainless steel Unfinished
Y () ] 1 | T |Eft |C\~7\(M5 X 10) 6 o = {f70x-k
THr — i i ﬂl_' Screw(M5 - 10) Steel Trivalent chromate
8 |# / Key 2 KRbw 5> / Brass Zyvt / Nickel plated
630 F7 =75 —% / Technical Data
562 255 2 REEMHK / Protection class IP65
526 35 EARE®E / Operating temperature | -20C ~ +75C
263 WeEM 2 o 2 / Flammability class UL94V =0
%_ 11 H | H | _o—- ) |nuinm!=!m|imm‘
i , % & coafiilooos @ 6060
:l © ©
= [
- |()
N
=S
f =1
O (N | O N : =--!u
RIS = < = m
=
: = o
=l
o
=l
=l
Ny C e oco|lllocoe § o000
——E—R—J — @ _\Fl V Qﬂéé e~ I-ILﬁJI-\IIIII\III\III\IIIIIIIII\IIIII\IIL'_mJIIIIIIIIII\IIIII\III\IIIII
475 360 \ 6-M5474-kt9h B
: ' 6-M5 Insert nut BAKEERED) / Color TypelEnd of product numberO)
i i &% / Code by 7#/N— / Top cover K74+ — / Base
| 5 — 5 5 | o S 24 b7 L — / Light gray J4 b7 L — / Light gray
— T — T %R / Transparent J4 b5 L~ / Light gray
a4 N _ 2% /Title N —
S RAKMINFBEIE | gk pegaERic-cx-irwo | QO L
= TAIACHIELFoTRONIGS NCHOSIRE 0. 1O IP65 POLYCARBONATE PLASTIC BOX with LOCK
&I /Approved | R /Checked | #E/Created |E% /Product number RE/Scale
- - i - BCPK5060250 t65
6-M54 V- hoh 5913 AR H B
6-M5 Inserf nuf ffR8 /Date  2020/01/20 172




[(x®m&= : TY-34)2008.02.08

Rt / Internal View

L5

L.5

L.5

o P

Ny
RT 14— (RR) H1— (A1)
Base (Internal View) Cover (Internal View)
7 255 630
foN | . — | 7o ) e e O e I e O o B s
3 ) ] ¢ :
Ne
()
oo
7D D\ =
=] 1 & B E
J \\ 1N o
o
g N\ e ( §
~
5 ® el M
+
=
s
3 o [ g ] \‘%F E
=5 = o = L= ‘ T—
6-M54y8-Fyh
6-MS54V5-hFyh
- 6-M5 Insert nut E-MS Insert nut
m
m
N
1 d e
£
>
M
>
~ (e}
# m = —
"7‘ A = n\:\%/TIHE ﬁ I/I
’ o o I HARM I N FERIX BH K - B EE 82 £ B B =0A" U3-K 2- AT 54" IR O L
T TAKACHI ELECTRONICS ENCLOSURE Co., LTD. IP65 POLYCARBONATE PLASTIC BOX with LOCK
A% /Max dim. 580.6 X®/Approved | R /Checked | ®E/Created [F%& /Product number RE/Scali65
. BCPK506025S / BCPK506025T —
iR EH =) 2/ 2
fER B /Date 2020/01/20




	BCPK506025 Model (1).pdf
	BCPK506025 Model (2).pdf

